
C

2 31 4

B

A

D

E

F

K223

03.02.2025M.Rebase

WEIGHT: 

A4
SHEET 1 OF 11SCALE: 1:35

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Circle swing 5 places



 1
13

53
 

 11938 

 6074 

 5
77

7 

safety area

C

2 31 4

B

A

D

E

F

K223

03.02.2025M.Rebase

WEIGHT: 

A4
SHEET 2 OF 11SCALE: 1:90

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Circle swing 5 places



 1
13

53
 

 11938 

 72° 

 500 

 7
00

 

 3
36

1 
 3

63
4 

 2
24

5 

 32
47

 

 2878  3091  3090  2878 

 2
11

3 

foundation

C

2 31 4

B

A

D

E

F

K223

03.02.2025M.Rebase

WEIGHT: 

A4
SHEET 3 OF 11SCALE: 1:90

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Circle swing 5 places



 6074 

 4
30

 

 2
21

0 

 5777 

 2
39

8 

ground

C

2 31 4

B

A

D

E

F

K223

03.02.2025M.Rebase

WEIGHT: 

A4
SHEET 4 OF 11SCALE: 1:100

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Circle swing 5 places



 850 

 2
21

0 

 4
30

 

 5
71

 

 7
00

 

 3
00

 

 2
39

8 

ground

concrete

B

C

D

1 2

A

321 4

B

A

5 6

C

Circle swing 5 places

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:40 SHEET 5 OF 11

A4
WEIGHT: 

M.Rebase 03.02.2025

K223



1

1

1

1

12

2

2

2

2

3
3

3
3

3

ITEM 
NO. PART NUMBER QTY.

1 post 98x98x2330 5
2 beam Ø76x2.6x3252 5
3 seat complect with fitting 5

C

2 31 4

B

A

D

E

F

K223

03.02.2025M.Rebase

WEIGHT: 

A4
SHEET 6 OF 11SCALE: 1:60

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Circle swing 5 places



C

2 31 4

B

A

D

E

F

K223

03.02.2025M.Rebase

WEIGHT: 

A4
SHEET 7 OF 11SCALE: 1:60

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Circle swing 5 places

8

7

2

4 43
56 65

3

1

ITEM 
NO. PART NUMBER

1 ground fixing L-900
2 bolt M10x120 DIN603
3 nut cover M12
4 washer M10 DIN9054
5 nut M10 DIN985
6 nut cover cap M12
7 plastic cap 115x115
8 wood screw 6 x 90

wooden post

2



C

2 31 4

B

A

D

E

F

K223

03.02.2025M.Rebase

WEIGHT: 

A4
SHEET 8 OF 11SCALE: 1:60

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Circle swing 5 places

aluminium post

3

1

11
10

8

6

8
10

11

7

4

9

9

3
2

55
5

ITEM 
NO. PART NUMBER

1 plastic cap 115x115
2 plastic cap 98x98
3 wood screw 6 x 60
4 ground fixing L-900
5 plastic detail for ground fixing
6 bolt M10x110 DIN603
7 bolt M10x120 DIN603
8 nut cover M12
9 washer M10 DIN9054
10 nut M10 DIN985
11 nut cover cap M12



C

2 31 4

B

A

D

E

F

K223

03.02.2025M.Rebase

WEIGHT: 

A4
SHEET 9 OF 11SCALE: 1:80

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Circle swing 5 places

A

DETAIL A
SCALE 1 : 10

domed cup nut M16 DIN986 bolt M16x140 DIN931

521NID 61M rehsaw 521NID 61M rehsaw

wooden post



C

2 31 4

B

A

D

E

F

K223

03.02.2025M.Rebase

WEIGHT: 

A4
SHEET 10 OF 11SCALE: 1:60

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Circle swing 5 places

B

DETAIL B
SCALE 1 : 15

bolt M16x140 DIN931

washer M16 DIN125

domed cap nut M16 DIN986

washer M16 DIN125

aluminium post

post profile filling blockpost profile filling block



C

2 31 4

B

A

D

E

F

K223

03.02.2025M.Rebase

WEIGHT: 

A4
SHEET 11 OF 11SCALE: 1:60

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Circle swing 5 places

nut M12 DIN985

nut M12 DIN985

domed cap nut M12 DIN986

domed cap nut M12 DIN986

beam

connecting seat to beam


